Answers for week 11
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Bris an Cod Answers
An Samhradh 2 Summer 2

. puball 1. an ghrian

An Samhradh 1 Summer 1
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. féileacain
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. ag campail

. uachtar reoite
. eitlean

10. spéaclai gréine
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tra

caisledn gainimh

. hata gréine

. noinini

. liomanaid

. laethanta saoire

. bedrbaicii

lus na gréine

10. briste gearr




Work It Out p52 and 53

WEEK 25 - MONDA

16, What number is shown on the
ohocus? Jeda

2,

3 150 + 200 +

L 12x8 + B 9, How mony saconds in 1D minutese?

5. 00 x ‘¢ B 300 v. 600 00

" . 3 an tar 69.5 - ——
Write 2450 grammes In kilogroms ond +;LA0NA BOUGNEZ aaxen Jor £2:50 #ach.and o
3 pot af jom for €175, What chonge did she

grommes. 2 kg 4450 ¢ Adel)
get from €107 €225 €425 /€325
. Whnotis halt of | m 20 em? £ s,

T
A
B
L
E
S

6

Judy is | m 36 cm soll, Fronk = | m 44 cm
1o, What is their combined height?
y2mBlcm em MNom 2m% cm

» YWhot must be odded 1o 3:4 10 moke 3657
0-35
o of € 26e = El6 xi
. Today is Septamber 30th. Whot was the dote
a fortnight ago? ISIh 7 16th 71k
What is the next shape? ¢ .
o - » How many €2X) npies In €£2407
A x 0 km = 2% OAa 2

19 14
! y ic N

. Ten markers cost €4-00. How much for
3 markers?€ L 20

I13. How mony secands in 2: minues? /50

Work it out®

(/0 = 2 £ 13.8x G = 64 4

2.(5¢ Ly 2= % Wnot s the perimetar of this
3. (40 4) - : : equilatarol triongle? 39,
L | 32 ) + - . Double M9, /5%

5.(24 — 4 kg YWhot i the perimatar

. What number comas ofter 39997 Loog al this triangle?
W 1em 1% cm

. 3=-03 ™

€500 - €149 = £3. 57
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FAl in the missing number
52,57, 82,67, 72 .77 . €1000 wos shared equally amang 8 peopie
LA+ 03+ 008 = 3.3 How mwuch did sach persan get?

a "E125 €150 LR
. Which is the odd one aunt? ’ {

22, 34,88, 59,. 82 5% « How much for (0L of milk # 2 | cost €1-607
) N - ! 4 ) Y

A person earmsa €7-50 an hour. How much v E800 €900 €10-00

will she eorn warking fram 9:30 %0 12:307 Double 67= 2% ] | 4k

«22-56
12. Tha perimatar al o rhombus is 48 om
Yot is the length of one side? 7Z

52
&~




(5 x84+ 4 =
5.l &
. Wnite 2435 md as litres and mi

-y

x84+ | = &9
Iitres
;,:f.:{ mi
oS kgx £ 10 kg
I'nis mogic squore odds
o 24 In eoch direction
Fill in the missing numbers
. 250 g +30g + 450 g = |
. Which = the longest amount of time;

3 weoks, o 32 doys or

the month of September?
Write B minutes post 5 on the digitod cloc
J 0%

Work it out /s

2,

3. (B x oy
hiBx 5 5 . ,,
5.08x V) - 6 = cu -

. In which manth did the dealer sell the mast
'
cars? L4 r'/‘»n-."/

u
In which month did the dealer gall the [sast
cors? _ AR/
How many more cors were scld in Jonuary
thon In Apeli? %
Haow many more cors were sold in Februory
thon In March? &/
. How many cars were 504d In the two months
of January and Fabruory? ¥345

. What was the total number of cors sold over

the 4 months? /3Vb

- X5

12

, 2 hrs 2l ming +

L (Bx6)-{3x3) »

. 27

. 43 -08 = &5

« A full ail tank holds 1000 1, If 475 | are used,

}
how much ail is leh? 257

iol 70 842
73 + 283

I s + A4S mins

- L» hrs

£5 mins

. Double 06 =

. Mow many friongles con you

5907 6 /B
v

ot
o swim 350 matres in o 50 metre pool
mony lengths would you hove 1o da?
5 [
v

06 X & =

v
n

How many more cors would the dealer hove
%0 sell in April 10 equal the number sold in
Morch? /3

(1 af 16] ~ 4
. (5%

. How many honzomaol lines can

you sea?

| ¢ 3

, B I8 0 locior of S6. Nome the othar loctor,
-
7

5 b

Il the tme now is 10:50, whot will tha time be
in half an hour? 1S o7 1120 11:30

D 5 R 1

. YWhich shows four thausand ongd two?

4020 L2200 /-"' 4002




Maths riddles — Place Value

What is the number? Answers

Card 1: 648
Card 2: 703
Card 3: 119
Card 4: 7426
Card 5: 9381
Card 6: 7004
Card 7: 4513

e,

What is the number? Answers

Card 1: 5559
Card 2: 399
Card 3: 99906
Card 4:15977
Card 5: 638
Card 6: 9999
Card 7: 85858

7~

What is the number? Answers

Card 1: 13 648
Card 2: 42 886
Card 3: 703 291
Card 4:128 749
Card 5:335 973
Card 6: 3 418 659

Card 7: 5182 247




